1/2

R B B S AR K BE R

E
ﬁ? R7 BB & RRDIRE FHH AR B
2 EFE 2025-20-008923
> R I ) il 3 SR ARKEEE GG (7) %55
bR AN
& 17 % A
175 D VG =<
FHIH L EH ~ & 8F 1H20H (k)
A NN
A B H & %k sk sk sk sk sk sk 5k %k %k
F 5t Al BRIV b
R Y1 2 Ik %k sk sk sk sk 5k 5k 5k %k k

D =




KERFEMRFT —R

e
X

5]

S - & 6,770,500 M

THE RIS B < 6,155,000

H5ZERDIHERL
&Z)“iﬂﬁ%ﬁ?ﬁ‘ﬁé@ & 615, 500 =




EEZANTII PN e e AR VY e

Semd | il 3 SR B M EE (7) %R

HOH 4 =
| e Tk KBS & A
Ei=d JEE B ACHE A% 5 e f
Hu XA Bl 3 K B X
ESiEd Beilr 3 Sk Eliakat (7) ¥
Jits T 557t
B 3w
Xy
| R X 5y YR
HR X 5y KBE OFF )
Hu PGy A - JA
L1y
RESLIRTRAEA DR T3 A
R A A B THE6 H—A
AP A PM64-08H5—A

- AENI ]

3P4 75 /)




EEZANTII PN e e AR VY e

Semd | il 3 SR B M EE (7) %R

&K HOH 4 Bl k& B i Hifr &
BB 6,770,500
- SREME B 6,155,000

- B A (1.0 %) 615,500

RV




SR (

1/

2)

EEZANTII PN e e AR VY e

Semd | il 3 SR B M EE (7) %R

oA % 5
5723

KK

| s i1

By Lt 55

LHS el

| TR b SR Gt

L LR SHI6EO 05 (1]

A S &

25072l % 35%LL T

X5y

IRE - HEHFF - 1A




EEONEE (2f 2)

EEZANTII PN e e AR VY e

Semd | il 3 SR B M EE (7) %R

HOH A4 B B HAT & =
1 REEE 6,155,000
2 - RS 4,001,000
3 - - B 2,636,000
4 - - - EPAEE 1.000 i 2,535,000
< - AR (B TR (R 2o BR <) 1.000 F 12,000
- - PRERRAY (TR R 1.000 = 89,000
7 - - Z Ol
(4 x 1RE(E
2,535,000 % 53.850 53.850 % 1,365,000
8 - RIS
(4+5+6+7) x {R#E(E

4,001,000 x 53.850 53.850 % 2,154,000




EEZANTII PN e e AR VY e

Semd | il 3 SR B M EE (7) %R

4 B & HAT il i fii %
[CECINGE
2,535,000
RNk INIEH
1.000 X 2,535,000
e R
1.000 N 2,535,000
coeoe WREMENETY 1047y
1.000 M 2,354,000 2,354,000
S60015 Fhiskit HEAKRE HA A
WSS PEAHIE 1,666m, L 72V, Q <10m3/s 1.000 M 2,354,073 2,354,073 | SH 1%
@ it 2,354,073
- A GGH 104729
1.000 XL 181,000 181,000
S63010 Tt (RalhSEBshkuE 1) BA - HA
— M THE, 75 Pl - Hef%,1.00A,1.00A,0.00A,0.00A,0.5H,0H 2.000 63,250 126,500 | SHL 2%
S63010 Tt (ks JLiE H ) A - HA
i 1A, 1f#,0.00A,1.00A,1.00A,0.00A,0.5H,0H 1.000 ] 54,050 54,050 | SHi 3%
@ it 180,550




— y
EEZA RN e i MR Y
[ | el 3 mapisok s Eltigeat (7) i
A P (B k%) S Y Hifr fiff il i *=
AR A (T R AL TR AR <)
12,000
- EEER R (R TR 2 R <)
1.000 = 12,000
e EEEHRA (B TR R A R <)
1.000 & 12,000
< ireAzim e G 1 Y7 v
1.000 i 2,000 2,000
S63018 ittt Aimte (RRAHAMER R HA - HA
T4 hs3v 1H IR 1.000 2 1,896 1,896 | S 4%
N 1,89
- ZOfh 1 Y70
1.000 = 10,000 10,000
S63023 A AL I T AR HA - HA
2,A—4,300,10cm,0 1.000 i 9,678 9,678 | SHi 5%
& B 9,678




	07金入設計書（表紙）（狭山３実７）
	CGCH0601-1
	CGCH0601-2

	08金入設計書（狭山３実７）

